AP® COMPARATIVE GOVERNMENT AND POLITICS
2006 SCORING GUIDELINES

Question 4
2 points

One point is earned for each of two correct identifications of features of the Russian political system that
make it a mixed presidential/parliamentary system of government. Responses must include features of
both presidential and parliamentary systems to earn both points.

To earn 1 point, responses can identify any single feature that addresses either type of system or a mixed
system.

To earn 2 points, responses must provide features of both presidential and parliamentary systems, or of a
mixed system.

Acceptable identifications of features of a presidential system may include:
e Direct election of the President.
e FHixed election cycle for the President.
e The President may veto Duma legislation.
e The President may be impeached.

Acceptable identifications of features of a parliamentary system may include:
e [rregular election cycle for the Duma.
e Votes of confidence.
e The Prime Minister is accountable to the Duma.

Acceptable identifications of features of a mixed system may include:
e The President can nominate the Prime Minister.
e The President can dissolve the Duma.
e Dual executive.

A score of zero (0) is earned for an attempted answer that earns no points.

A score of dash (—) is earned for a blank or off-task answer.

© 2006 The College Board. All rights reserved.
Visit apcentral.collegeboard.com (for AP professionals) and www.collegeboard.com/apstudents (for students and parents).

5



L{ Write in the box the number of the question you are answering %
on this page as it is designated in the examination.

RussSia Uz considered o hpbrd betweey,
a -?Mét%hf"i{ and o py(cm § y Sfep becease
Fembediee boti systems_ I+ i< a parliancrfaly
igsﬁmwt‘mq- 1he Posf‘ﬁ'&m o POy
Ministar [P he or she s e head o dra
Mgfertty pacty in the lwer legzletive branch or The
Stle Bumg, on the other poard £ [s a preciHentr/
Gyshn  [h Jhaf yofers pepaletly, elect A pres (Hentinf

cand;date | The pres’ tlent cring his or hec pacitrdn 1 F

M or che receives a ﬂLA:arIﬁ/ ofF Fre usfe whefher
in_The B3t ballet sC in ’ﬂ{ dowble baflef Tt s
alseo pmgt‘écnh‘z[ becanse 1The precildent 3 The had oF
stade ppd e hoed o F governmunt The we sgcfeis
are fosed | For cxample in a palliznwn fan, v‘ﬂ"l,,_
fhe _privue. miviister wosld_be oo kead of dhe @}%L
M edcentive baanch . Tin puss:dc e PM 43 Jest
the head sf lLeysslatiue whnle The heed oF 1o
ecwhive beandh s The preg Mtent ﬁz/ﬂaf(( Lssia
fLses qﬂﬁar a_ Presidentia/ and a Pu{zw%

Sy sfen, |

© 2006 The College Board. All rights reserved.
Visit apcentral.collegeboard.com (for AP professionals) and www.collegeboard.com/apstudents (for students and parents).



Write in the box the number of the question you are answering ’ﬂ; > 5—
on this page as it is designated in the examination. - :

F2-\n o COY porat sk s%,&gma ey esk groups acd LwoA\ONnS_are gg’Sgaggg;\‘

wen e Qg(\’i\cal. SAYUCUCE o B examE\L of s o Hexicn v e Anese

nr%cmxmtro'ns den\ c&\(e(}ﬂxﬁ widh e vead of gwave .

Also, Are groupl have o say i e implementahion of polieu.Taus IS

dffereny Fam o pluralist system  oecquse e gcoups have ducect

Polifieal  powey -

* 2-"Veldacal \egk\—w}\a% occrs Whnen a S\E}m—\ctcctr\—t SQS}VY\QIY\’JTF‘W\»Q_

sopul G0N e\eNS  trok e iing bod oS o wshpuble daim o

_mmwnz Sour(e & nCCouﬁ{ab\\\"Cnﬁ\fQ{ hether Ahe gm/emmem— s

(e8P b g, ?on?le. PLarer Soutre Is »}feedbal‘l( , At pan,@{els reachan

4% Sm\/&)(t\m&ﬂ\'&\ »rl:o\ic«j,

#- Pusia_has an_execudve ranch and o \eg(.e\\a—h\/e prancn Aok arg

excdluswe of eacn otrer. Tas 1s chavaeterishe of o presidental system.

Te peaident nomindtes a Prime Minigier, who 8 i chavge of ecaanmie

1ssues. Tre. Brime Munister s gmmud @ 4 Duma and can  be. yroméved b‘(/

a voke of o confidene TS s charaderishe of a parliamentacy system.

#5- Correlation refers 4n a .Su‘m'llar.-l—g[ between occurmenceS i deve\opment or

change . For expmple, as dhe courmtry wecomeS miore dewocratic ; W

£Longray growss e 4wo occurenceS  aren't mecp&&ahlg, reloted | but 4"’951 both

exoexexce, cV\an(}QJ,

ot v 7o} N nom YA

ancier. For xample, e countty's plonomy grows because wWous more  dem0Cradc.

© 2006 The College Board. All rights reserved.
Visit apcentral.collegeboard.com (for AP professionals) and www.collegeboard.com/apstudents (for students and parents).



Write in the box the number of the question you are answering 4’ 4 0
on this page as it is designated in the examination.

Rissice  has bom Quulihes oF o P LI mo g
ond_presiclonn pl_Systern - Rusia_ es wﬁma
pr/m@ MINAEA_ cd ¢ pesiclmt, eoch o=
o — Serye /MP/I ot JonShation ol
Aunchos %@m//u RuSiae has tap © Jogusiohe
clies, Tie  DUTIL ened mmo URRes Hose
e ! & DeSIclimDicl SV HwEEr, fug.
VDXl epreentnied  elerronr
- Sithular I DUt o a Dlrlieap i S| \p77.

© 2006 The College Board. All rights reserved.
Visit apcentral.collegeboard.com (for AP professionals) and www.collegeboard.com/apstudents (for students and parents).



AP® COMPARATIVE GOVERNMENT AND POLITICS
2006 SCORING COMMENTARY

Question 4
Overview

The intent of this question was to examine students’ knowledge and understanding of mixed
presidential/parliamentary systems. Students were asked to demonstrate their knowledge by providing
examples from the Russian political system.

Sample: 4A
Score: 2

The response correctly identifies the prime minister as an executive official in the Russian government, a
single feature of a parliamentary system (1 point). The response then states that the prime minister holds
the position “if he or she is the head of the majority party in the lower legislative branch, or the state
Duma.” This is contrasted with the direct election of the president. The identification of the two separate
election systems as a feature of a mixed presidential/parliamentary system is sufficient to earn the second
point.

Sample: 4B
Score: 2

The response correctly identifies the presidential nomination of the prime minister as a feature of a mixed
presidential/parliamentary system (1 point). The identification of the prime minister’s selection and
possible removal by the Duma through a vote of no confidence is accurate and earned the second point.

Sample: 4C
Score: 1

The existence of both a president and prime minister is correctly identified as a feature of Russia’'s mixed
presidential/parliamentary system (1 point). The identification of Russia’s two legislative bodies as a
feature of a presidential system is not correct. The identification of proportional representation as a feature
of a parliamentary system is also inaccurate. Thus the response did not earn the second point.
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